Holly R Castro

ECN 201

Week 1 Assignment, Part 1
Chapter 2 – Practice Problems: 1, 3, 5, 9 

1. In 2002, the worlds’ total output (real GDP) was roughly $46 trillion.  What percent of this total was produced by the three largest economies (World View p. 28)?
The three largest economies were US, China and Japan for a total of $19 Trillion.  

The total of GDP was $25.63 Trillion

The percent of the 3 largest economies is 74%
Is that correct?
3. If Haiti’s per capita GDP of roughly $1,280 increases by an exceptionally fast 5 percent a year, what will its per capita GDP be in

a. 10 years? 
That would be an increase of $64 per year, times 10 years that would be $640, added to $1,280, per capita GSP in 10 years would be $1,920.
Or

Year 1 = $1,344

Year 2 = $1,411.20

Year 3 = $1,481.76

Year 4 = $1,555.848

Year 5 = $1,633.64
Year 6 = $1,715.322
Year 7 = 1801.088
Year 8 = $1,891.142
Year 9 = $1,985.699
Year 10 = $2,085
I’m not sure which way I’m supposed to do this, I’m leaning more toward option 2.

b. 20 years?
	Year 11
	 $2,189.23 

	Year 12
	 $2,298.70 

	Year 13
	 $2,413.63 

	Year 14
	 $2,534.31 

	Year 15
	 $2,661.03 

	Year 16
	 $2,794.08 

	Year 17
	 $2,933.78 

	Year 18
	 $3,080.47 

	Year 19
	 $3,234.50 

	Year 20
	 $3,396.22 



c. in 20 years, what percent of America’s 2002 per capita income would attain at that rate?
America’s 2002 per capita income = $35,060
3,396.22/35,060 = 10%

5. US Real Gross domestic product increased form $3.8 trillion in 1980 to $4.8 trillion in 1990. During that same decade the share of durable goods (e.g. cars, appliances) fell from 18.5 percent to 17.0 percent.  What was the value of durable-goods output

a. In 1980?

b. In 1990?

c. By how much did durable output change?
I don’t have a clue how to figure this out.
9. 





 Shares of Total Output
	Sector
	1950
	2000
	Difference

	Consumption
	
	
	

	Investment
	
	
	

	Government Purchases
	
	
	

	Exports
	
	
	

	Imports
	
	
	


a. Which sector share has increased the most?
b. Which sector share has decreased the most?

The data below if what we are supposed to change from dollar amouts to percentages.  I thought I should take the consumption and divide it by the GDP, so 1153/1777 = 65% but I’m not entirely sure.
From the book this is the data given to fill in the boxes:
Real Gross Domestic Product in Chain-Weighted Dollars (2000 = 100)

Year





1950

2000

GDP: 





1,777

9,817

Personal Consumption Expenditures Total:
1,153

6,739

Gross Private Domestic Investment Total:
228

1,735

Net Exports -



Net:




-9

-379


Exports:



50

1,096


Imports:



59

1,475

Government Purchases


Total:




405

1,721


Federal Total:



167

578


Federal National Defense:

125

370



Federal Non-Defense:


41

208


State and Local:


159

1,142
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